FICOBA (Recinto Ferial Gipuzkoa)
AVDA.IPARRALDE, 43 - ROOM 3

‘cc 20302 IRUN-GIPUZKOA (SPAIN) PLANETARY GEARHEADS

PR e
R, 0034646211965

= RCC@RCCINDUSTRIAL.COM
© RCCINDUSTRIAL

PGH Single Stage Dimensions PGHEESM R~ H vV PGH Double Stage Dimensions PGHEERSMEIR T
INDUSTRIAL SOLUTIONS
<9
C9 D2 Lil &
Li1 = 7/ = \ﬁ ]
T 3 v \ 8| 1 ____'Qf__", 4
_ =V ° [ /f} 3 é[é] 118
ok =2 N aE! 4
! 8 = 3|17 c4
L4 h_LS oLl L2 L8 c8
13| |17 cl . -
oLl 12 18 8 8 c I
[ (ol — 12
L4 LS E\I__ T P
A gél = —-é ‘w
© — 14 A-_'\j Bleg==a] |3
— g ) 79
19 13 | |77 ﬂj §) s
_tf__ ) 18 8

Specifications R& Unit:mm Specifications Rt& Unit:mm
Rt Dimensions PGH42 PGH60 PGHS0 PGH115 PGH142 PGH180 PGH220 Dim’E,';{im,s PGH42 PGH&0 | PGH&0T PGHS0 PGH90T | PGHI15T | PGH142T | PGH180T | PGH220T
D1 50 70 100 130 165 215 S D1 50 70 100 130 165 215 =
D2 34 5.5 6.5 85 10.5 13 & D2 34 oo 6.5 85 10.5 13 =
D3 hée 13 16 22 32 40 55 = D3hé 13 16 22 32 40 55 -
D4gs 35 50 80 110 130 160 ® D4gé 35 50 80 110 130 160 -
D5 15 25 35 45 50 70 S D5 15 25 35 45 50 70 =
D6 M4x0.7P M5x0.8P M8x1.25P M12x1.75P M16x2.0P M20x2.5P 5 D6 M4x0.7P M5x0.8P M8x1.25P M12x1.75P | M16x2.0P | M20x2.5P 5
D7 56 80 118 148 186 239 = D7 56 80 118 148 186 239 =
L1 426 60 90 115 142 182 = L1 42.6 60 90 115 142 182 2
L2 26 37 48 63 915 100.5 = L2 26 37 48 63 915 100.5 B
L3 55 7 10 10 10 16 i L3 5.5 7 10 10 10 16 e
L4 ih L5 L5 3.5 25 25 = L4 1 15 15 35 25 25 =
L5 15 25 32 40 60 70 = L5 15 25 32 40 60 70 -
L6 2 2 3 5 5 6 = 53 2 3 5 5 6 g
L7 4 & 8 11 16 18 5 L7 6 8 i1 16 18 =
L8 28.3 37 46 57 755 4 = L8 55.3 70 65.5 86 78.5 99.5 1275 166 =
L9 4 4 4.5 6 6 8 - L9 4 4 45 6 6 8 ®
L10 14 16.5 20.5 30 38 48 = L10 14 165 20.5 30 38 48 &
L11 29 355 40.5 42 63 69.5 - L1 29 355 29 405 355 40,5 42 63 e
€12 46 70 90 115 145 200 = c1? 46 70 46 90 70 20 115 145 <
(@ M4x0.7P M5x0.8P M6x1.0P M8x1.25P M8x1.25P M12x1.75P = c2? M4x0.7P M5x0.8P M4x0.7P M6x1.0P M5x0.8P M6x1.0P | M8x1.25F | M8x1.25P -
32 =8 =14 <19/<24 <24/<28 =35 <50 - ca? <8 <14 <8 <19/<24 <14 <19/<24 <24/<28 <35 -
ca? 27 37 47 56 66.5 82 5 ca? 27 37 27 47 37 47 56 66.5 =
C5 2k 30 50 70 95 110 1143 = ¢5%ks 30 50 30 70 50 70 95 110 =
62 4 4 6 10 6 13 - 64 4 4 4 6 4 6 10 6 -
(or /i 2.6 60 90 115 140 182 - c72 285 60 426 90 60 90 115 140 2
cg? 38.5 46 55 63 80 95 i cs2 38.5 46 38.5 55 46 55 63 80 @
92 92.8 120 149 183 247 289.5 = c9? 119.8 153 141 189 1725 217.5 282 346.5 -
B 5 5 6 10 12 16 o B 5 3 6 10 12 16 :
H 15 13 245 35 43 59 - H 15 18 245 35 43 59 =
* CL~CORANERREMBERT WETBANFERE.  * g&;(r:’?a;rsarpyoat?cr:ﬂ-}:i;i::lr}:\:r:‘i;:gi(frlr:‘tgrzcsbt‘gsseh:wn X * Cl~CORANBERERBER Y, W MBANKERE  * S(‘Zi]i;%Ba;rsarryo;?::%?:i;i::m:r’:‘sti’c:g:(frlv;:tgrt:cs’t‘gssﬁ:wn )
* FATEMNUYN EHBRBETRHBERETEA. * Specification subject to change without notice. * FATEMANN FHBRBETRHBERETSA. * Specification subject to change without notice.
39 2= sesame %? SESHNEL | a9

www.sesamemofor.com www.sesamemotor.com




